AR BDA~F Tk (E f 1% =
T A+ |Bam|cH%|Dr|ETR| Fam S T < sE(mm)E S 800X18600X 547550 ~600
UKC-602-B/-W/F1 | 550 | 38 | 480 | 100 | 15 [%27.5~30 52 w4 | | Ny IH—FHE & ¢ &8E0  0~200mn
o 27 460 g g 602 | -657 | -660
UKC-657-B/-W/F1 | 570 | 58 | 500 | 120 | 15 17 ~Erooowogsl S « 5 53 = > >
o Y FFi N = - -
UKC-660-B/-W/F1 | 600 | 88 | 530 | 150 | 17 17 F | & R - [fg] =z 05 o o
RFrC Xy NRIRBEO I —F > TR LT AEC 3 R T
FURBUZT. LY (merssR) | — = —
e Ny IH—RKOME AR+ X T L X
25.5 0 == | o \ _ |-B/-W E S ON=
S 15 APREEERL | s FOEET = S EO— MLy
‘A'. ': .w Y OFR —
T M EOf LT oyERI—bEY
- . X ~ B I RS SETRETEER RSK: U —X
Ny I A= FEIER S pa o X HEBWEF Y F Y KU AN—BIEDF v 7>
(EH2*) B = T B & RESHFE(TEFST)
i ; + 1 BEL— /Ny F
3| < 175 (17.5) EEHEBEEA
N = HKia U (L=05;24,L=12; 44, L=40;4%)
4-R30 J g \ BIAES T 5 0 4k
/ %% '/////////////////////////////////////W//////////////////v/ w
N o
(@)Y
Y oW (£+E =%y FEARATE)
EETO W SBOTE) R 5604 (7 k) ==/ R —
600 <FEE> <REEE > . | LEAm) | g
A3k EJLbhA>a20 L35( ROy 7+ ><E) =~
L DA B |2
ol ] N
60 ,%] R8 a 1[31@ ] | : j
ix 14.5 L / 9 &
o~ _ — 555( K 0Ovw 7+ >~FiE) N N
e = Z ¢
LO (e} M—
570 S % EjZ
| | |
BB —IL
al L Ny >
- (HED)
o 2 | |
2 27 | 460§
(25) L | (ERFOy 7« BEOTE)
| ‘ ////////////////////////////////////////////////////////////AV/A
E ik
o -IE@@ 18 = X
CHEES BE - BIAE
{l
49 - SRFLT =
2,55 INEX R FE S Ay S S I
<EHEEH>
UKC-602-B, UKC-602F1 ,UKC-602-W,
GUEAN UKC-657-B,UKC-657F1 . UKC-657-W,
UKC-660-B, UKC-660F1 , UKC-660-W
. =iz A,
femR| 2021.06.28 |[RE |1 : 10[#12| A3 | U FA HETRET

102



